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Directions for the following 15 (fiffeen)
tlems

Read the following threc passuges

and. answer {he iems that follow each |

passege; Your ansiders fo these iemy
should be bised ont the passdages only.
Passagé ]
Edugation, without a doubt, has an
important functional, instrumental ‘and

utilitarian dimension, This i3 revealed.|

when one asks quesiions such as "what i
the purpose of education 7. The answers,
for employmentiupward wobility',

‘wider’higher (in  terms  of  income)
trained hughan pewer in diverse fields for
national developmient’. But in its deepest

genge education: iz wol instrumentalist, |
That is 16 say, it is ndl {6 be justified)

outside of itself becauvsg it leads to the

acquisition of farmal 'skills or of certain.]

must be respected in itself Edueation is
thus not a cammodity to he acquired or
possessed and then used, but a process of
‘inestimable impoartahes to individuals and
soclety,. although it can and does have
enbrmous use-value. Edueation thern, iz a
in the sense of converting or turning
students intd doctors o1 engineers, bui the

the creation, sistemance and developments
and |

of selferitical -AWATEN eSS
independence of thotight., Tt is an
provess of moral - intellsctual
developmend.

inner

(2 - A1

What do vou understand. hy the
instromentalist’ view of educalion ¥ ¢

(a) Edudation iz funetional and

(b) Bducation is meant o Tuifil human
nesds!

(ej The purpose of oducation ig Lo train
the human intellect..

{d} Bducation is meant to achieve moral
dovelopment..

According to the passige, edueation

must be respected in itseif because

{ay it _'lle]ps to acquire qualifications for
employricut,

(b} it helps in upwiard mobility and
acquiring secial status:

{¢} it is an imner process of meral and
intellectual develepment,

All the (a), (h) and (¢} given above
are correct in this coniext:

{d)

Education is a process in which

{g) students are cenverted into trained
prolessionals,

(b} opporiunities for higher income are

generated,

{e) individitals  devclop  self-critical
awzreness’ and  independence of
thought. .

(@) qoalifications for upward mobility
are acquired.
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Passage - 2

Chemical pesticides lose their role in

sustainable agriculture if the pests evolve.
resistance. The evolution of pesticide
resistance is simply rnatural selection in

action. It is almost certain &6 ocour when

vast numbers of a genetically variabls
population are killed. One or a few
individuals may be unnsually resistart
{perhaps hecause they possess an snzyme
that can dcetmufy the pesticide), I the
pesticide Is  applied repeatedly, each
guccessive generation of {he pest will
contain a larger propertion of resistant
individuals.. Pests typically have a high
intrinsie rate of reproduction, and sé a
fow individuals i ene generation may

give rise to hundreds or thousands in the.l
next, and resistance spreads very rapidly |

in a population.

This problem was often ignored in the.

past, even thaugh the fikst ease. of DDT
{dichlorediphenyttrichioroethane)

resistance was reported as sarly as 1946,
There is exponential increase in the
numbers of invertebrafes that have
eveived rcsast&nce and in Lhe number af

ex&mple It has devciuped mnhmnce in
one or inore regions of the world to aldrin,
DDT, dieldrin, .endrin, lindane and
taxaphene

if ehémieal pesticides brought not‘nmg '

but problems, - if their USC  WHE
intrinsically and acutely unsustainahle —'
then they would alrcady have fallen out
of  widespread wuse. This has  not
happened. Instead, ‘their

rate  of

: 2

{4 A

[

production has incressed rapidly, The
ratio of cust to benefit for the individaal
agricultoral producer has remained in
faveur of pesticide wuse: In' the USA,
Insecticides have heen estimated to

benefit the agricultaral produets to the

tune of arpund $5 for every $1 spent.

Moreover, in many poorer countries,
the progpect of fmminent mass starvation,
or of an epidemic disease, are sp
frightening that the social and health
costs of using pesticides have te be
ignored. In general the use of pesticides is
Justificd by objéctive measures such ag
‘lives sdvcd, ‘eeonomic efficiency of foad
preduction’ and “total food produced’. In
these very fundamental scnses, their use
may be deseribed as sustainsble. In
practice,  sustamnability depends on
continually developing new pesticides
that keep at least one step ahead of the
peats  —  pesticides that are less
persisfent, Dbiodegradable and more
accurately targeted dt tho pests.

“The evolution of pésticide resistanee iz
natural seleetion in action.” What does it
actuaily impiy 7

(ay I iz very natural for many
organisms  to  have pesticide
‘régistance,

{by Pesticide resistanec among
OTZANIsSmSs is A universal
phenomenan,

(e Some individuals in apy given

population show resistance after the
applieation of pesticides.

{d} None of the statements {a), (b} and
{g) given above is correct.
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5. With reference to the padsage, consider
the Bollowing statements ©
1, Use of chemieal pesticides has become

imperative in all the poor countries of
the waorkd,

2. Chemical pesticides should net have
any role in sustainable agriculture:

3 Une pest can develop resistance to
-many pesticides.

Which of the slaterhents given above

iwfare correct 7

fa} 1 and. 2 only

(b} 3 oniy

fey 1 and 3 only

{dy 1, 2and 3

8.  Though the problems associated with the
usg of chemieal pestitides is khwwit for s
long time, their widespread use has not
waned. Why 7
(a) Alternatives to chemieral pesticides

dnr net exist at all.

{by New pesticides gfe nol invented at

ail.

(e} Pesticides arw bindegradable,

{d} WNone of the statements {a), {b) and

{¢) given above 15 torrect.

T. How do pesticides aet as agenis for the
seléction of resistant individuals in aby
pest populstion 7 .

1. It i3 possible thal in 2 pest population
the individuals wiil bebave differentiy
due @6 their genetiy mmakeup,

2. Pests do possess the ability o detosify
‘thepesficides.

3. Fvelution of pesticide resistance g
equally digtributed in pest population.

Which of the statements given above

isfare correet 7

{a} 1 enly

b} 1 and 2 only

{e) 3 oniy

(dl L Zend3

P-CT3-U-08

8.

P68~ A}

ey There i& o

"

1. Develeped esuntries can afford o do
agway “with wuse of pesticides by
adapiing to organic farming, but it
is  imperative for poor  and
doveloping couniries to use chernical
pe:’;ticiées,

2. In poor and developing coantries,

sases the foed probiem.

3. The social and health eosts of
pesticide ude are generally ignored
in poor and developing countries.

Which of the statements given above

is/are correct ?

fal 1 only

¢br ) and 2 only

@ 2 onty

i 1, 2 and 8

‘What does the passage imply 7

{a} -Alterpative options to  chemical
pesticides should be promated.

b} Too wuch use of chemicals is not
good {or the scosystem.

the

and

scape  for
improvement.  of  pestisides

making their use suslainabie.

fd} Both the stsfements {a) and

above ate gorrect.
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'P'&ssag‘é -5

'1?:3&33"&; developing Leonomies use
much less energy  per capite ihan
developed countries suech as the United

States did at similar lncoines, showing

the polential for lower-carbon growth.
Adaplation and mitigation need to be
inftegrated intg a-  <limate-amart
development strategy thaf inereascs
resilience, reduces the threabt of further
global warming, and improves
development ouieomes. Adaptation and
mitigation  measures can  advance
develepment, and prosperity can raise
incomes and foster betier institutions, A
healthier population Hiving in bettor-built
houses and with access to hank logns and
social securily is betier equipped to deal
with 2 changiﬁg cli'matc. and

dcveiepmenb -pul-imes that
adaptation is
changes in the ¢limate, already. begun,

will increase even in the short term.

The spread of écenomic prosperity has |
always been intertwined with. asdaptation.
to changing ceelogical conditions. But as

growth has altered the environment and
as environmental change has accelerated,
sustaining  growth and adaptability
demands greater capacity to understand
our cnivirenment, gererate new adaptive
technologies and practices, and diffuse
them widély. As ceonomic historians have
explained, ‘much of humnnkind's creative

potential kas been directed at adapting {0

‘the. changing world. But adaptation

cannot cope with all the impacts related

to climate change, espeeially as larger
changes unfold in the long term.

it—ﬁ- {

pmm_{}ln;
needed today becausa |

| EO.

{8 - A}

‘Countries cannet grow out of harm's
way fast encugh to match the changing
climate. And some growth strategies,
whether driven by the governmoent er the
market, -can also add to valnerability —
particularly if they overexpleit nasural
résources. Under the Soviet development
plan,  irsigated  cotton  cultivation
expandid in watcr-stressed Central Asiz

and led to the near disappearance of the

Aral Sea, threatening the Hvelihoods of
fishermen, berders and farmers. And

clearing inangroves — the natural coastal
buifers against storm surges — to make
way for intensive farming or housing

the physical
settlements,

development, increases
valnerability of coastal

whether in Guinea or in Louisiana.

Which of the follewing conditions of
growth can add lo vulnerability ?

peeurs  due  to
»f  mineral

1. When the growih
mxcessive  exploitation
resources &nd forests.

Z.. When the growth brings ahsut z
change in  humankind’s ereative
potential.

3. When thie growth is envisaged enly for

providing houses and social security to
Lthe people,

4. When the. growth ocours
emphasis on farming oaly,

due tg

Beleet the correct answer using the codes

given below :

tal I only

{b} 2,3 and 4 enly
{ey 1.and 4 waly
{dy 1,2, 3 and 4
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What does lew-carbon gmwth imply in{13.

the present context ?

1, More emphasiy on the use of renewable
sources of erorgy. -

2, Leas emphasis on  manufacturing.
seclor  and  more emphasis  on
agriculture sector,

3. Bwitehing over from ‘monoculture.
practices to mixed farming.

4. Less demand for goods and services.

Select the correct answer using the

codes givén below |

fay 1 only 14

(b). 2,2 and 4 only

(¥ 1 and 4 only

{d) None of the  above imples

low-earben growth

Which of the following. conditions isfare

neeessary  for  sustainable  éeHpomic

growth ?

1. Spreading of scovémic presperity miors,

2. Popularising/spreading  of  adaptive
technelogies widely. 15

8. Investing on research in adaptagion
and mitigation technologies.

Select the correct answer using the

codes giveh below ;

(ay 1 only

by 2 and 3 only

{t) 1 and 3 only

fdy .1, 2 and 3

{10 ~ A

Which of the fllowirg inférénces can be

made from the passage ?

1. Rainfed crops should nol be eultivated
in.irr gr.ltf.,d Afeas.

2. Fasming under water-deficient aress
should not be a part of development

strategy.
Select the correct answer using the cvedes
given below ;
faY L only

b} 2 only

(¢} BRoth 1 and 2
{d} Neither ! nor 2

Consider the following assumptions -

1. Sustainable cconomic growth demands
ihe use of treative potentisl of man.

2. Intensive agriculture can lead to
ecolegical backlash,

. 3. Spread of econemic prosperity can

adverzely affect the

anvironment.

ecology  and

W:ih referencn to t.he pasbage whmh of

(a} 1 rm]y

thy 2 and 3 enly
e} 1 and 3 only
{d) 1, 2and 3

Which one of the- following statements

conslitutos the central theme of this
‘passage 7

{a} Countries with greater sconomic
prosperily are bstter equipped tu
deal with the conscquences of

climate change.

fh} Adaptation ard mitigation should be
integrated with develapment
strategics,

(e} 'Rapld edonowtic growth should not

be pursned by both developed and
develeping ceonomies,

Some countries resart to
vverexploifation of natural reseurces

for the sake of rapid development,

(d)
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16. Consider the foliowing statements.

17.
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{a)

1. All artists are whimsical.

2. Some artists are drug addiots,

8. Frustrated peeplé avé prone to become

drug addicts.

From the above thiee statements it may

be concluded that

{a) Artists are frustrated.

h Some drug addicts are whimsical,

te) ALl frustrated people are drug
addicts. '

(d} Whimsieal

i‘mst?rate_dx

people  are generally

the following statements :

1. Either A and B are of the same age or
A is glder than B,

2, HEither &
Dis mlder than C.

3, Bisolder than C.

Which one- of the following tonclusions.

ean bedrawn from.the above statements 7
(a} A s older than B

(B) B and D are of the same age

D is older than €
A is older than O

(c)
{d)

Examine the following statements ;.

1. Unly those who have a pair of
birigsulars can become the members of
the birdwatcher's chub,

2. Somé. members of the hirdwatcher's
¢fub have cameras.

3. Those members who have cameras can |

teke part in photo-contests,

Which of the following conelusions can he
drawn from the above statements 7

All those who have a pair of
hinoculars are members
birdwatcher's club, _
All mémbers of the birdwatcher's
club have a pair of binoculars.

All  those ‘whu ‘take part in
photo-contests are members of the
erdwatcher's club,

Ne conclusion can be drawn.

{hy
(e}

(d)

L and I} are of the same age or |

of the|

19,

2.

{12 - A )

During the lust summer vacation, Ankit
wenk ko 2 summer camp where he tonk
part in hiking, ammmmg and boating.
This suminer, he is leoking forward to a
music camp where he hoped to- sing, dance
and learn te play the guitar,

Based on. the above information, four
conclusions, @s given below, have heen
miads, Whieh one of these 1ngwallv followa
[ronz the information given above 7

{a)

Ankil’s parents want him to play

the guitar,

ikl Ankil profers music to outdour
Adtivitiss.

(c) -Ankit goes to some type. of camp

EVCEY BIMET.

(d}  Ankit likes to sing aid dance,

Three persons A, B and C wore shirts of
black, hlue and -orange colours (1ot
necessarily in that order) and pants of
gréen, yellow and orange colours’ {not
necessarily in that order). No persen wors
shirt anid pants of the same colour,
Further, it is given that

1. A did not wear shirt of black cofour.
2. B did not wear shirt of blue colour..
3. € did not w;vee;:r shirt of orange colour,
4. A did.not wear panis of green calnur,
5. -B-wore pants of orange eolour.

What were the colours of the pants and,
shirt worn by ‘C, respectively ?

{2}
(b)
(e}

{d)

Orange and black
Green and blue
Yellow and blye
Yeliow and biack
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21.

22, Read the passagc given below and the two

Gujarati and twe speak Tamil. Mo two of
the same profession. speak. the same
language. Two are Muslims and fwo- are
Christians: No two of the same religion
are of the same profession, nor do thoy |

speak  the.  same  ldnguage, Thel
Tamil-speaking doctor is a Christian.

i. The Christian-businéssman  speaks

Cujarati,

2. The Gujarati-speaking doctor is al
. Muslim,

"Which of the above stalements islare
correct conelusion/tontiusions ¥

{a} Lanly

L) 2only 127,
(¢} Boath1and?

{d} Neither 1 nor 2

23. Consider the following statement ;

“Though gquite expensive, television is not

2 luxury {tém, as one ean learn many

‘things through television.”

Which one of the fillowing is & valid

ixference from the above statement ?

() All expensive things are regarded as
o Jaxary., . '

(b) All éésential things for learning are

ot luxuary,
{c} Television is eszential for lparning.
{d) Television is not a lugury item.
P-DTQ-M-0B { 14~ A )

the other two are businessmen. Two speak

Ten new Wﬁfﬂﬁnﬂ in Janvary — |24, Mr, Kuoar drives to work at an average

5 sitcoms, 3 dramii-and 2 news magazines.

By April, only séven of Tt newy-shows wors |

stili on, five of them being silcoms=...

Based on the above information, four |

conclusions, as given below, have heen

made. Which one of these logically follows.

from the information given above 7

{8) Only one news magazine show is sl
on.

(8) Only oné of the drama shows ig still
on.

(¢} At leust one discontinued show was a

drama, 25,

{dy Viewers prefer sitcoms over drama.
statements that follow (given vn the basis |
of the passage)

Four men are waiting at Delhi airpert
for 2 Mumbai flight. Two are doctrs and

26,

speed of 48 km. per hour. The tite taken
to. cover the first 60% of the distance is
16 minutes more than th(a_.=timﬂ luken to
cover the remaining distance. Hew far is
hiz offica ?

{a) 30 km
{b) 40 &m
fc) 45 km
{d} 48 km

Gitz is pretlier than Sita but not as
pretiy as Rita, Then,

{n} Sitais not as pretty as Gita.
(B} Sita is prettier than Rita.
{ej Rita is not as pretty as Gita.
{d} -Gita is prettier than Rita.
Given that,

1. Ais the brother of B,

2.. Cis the father of A,

4.. D is the brother of E.

4. I is the daughter of B,

Then, the uncle of D is

fa) A
h) B
(¢} €
dy E

Examine the following statements :

2. Rani scored less than Ratna,

3. Rafna scored more thar Rama.

4. Padma seored more tham Bama but

Who scored the hi_ghs:st ?

(ay Rama
(b} Padma
{ej  Rani
(d} Ratna
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Btrecfmm for,_the following 11 {eleuen)

items N\\“-m.

Bead the fﬂffowing three passages
and answer the ilems that follow. each
passage. Your answers (o these iems
should be based on the passoges only,

Passage — 1

Invagions of exotic species inte new
geographic  areas  somelimes  eccur
naturally and without human agency.
However, human actions have increased
this trickle ta a flood. Hivman-caused
introductions may oecuy either
accidentally as s consequence of human
trangport, of intentiooally hut. illepally
te  serve some private parpose  or
legitimately 1o procure seme hoped-for
public bensfit by bringing a pest under
control, preducing. mew  agriculiural
prmductq or praviding novel recrcational
gpportunities. Many introduced specics
are assimilated  inte  communities |
without much obvious effoot. However,.
some have been responsible for dramatic
thanges {o native specisg and natural
communities.  For  example, the lag.
aceidental introduetion of the brown tree.
snake ‘Boiga irregufaris inte CGuam, an
island ‘in the Pacific, kag through nest
predation reduced 10 endemic forest bird.
gpacios. to the point of extinetion.

One of the major réasons for the
world’s  great  biediversity: 18 the
ocourrence of centers of eodemism se .
thiat similar habitals in different parts
ﬁf th'e world are occup‘i'e'ﬂ hy different'
evaived then. If cve*y specms ndi:ura%]y'
had aceess to everywhere on the giobe,
we might expéet a relatively small
number of successful species to become
(deminant in each bisme, The extent to
‘which this homegenization can hzppen
nalurally is restricted by the limited

P-DTQ-M-QB. {18 - A}

powers of dispersal of mobt specics in the
face of the physical barriers that exist to
dispersal, By virtue of the transport
epportunities offered by humass, these
barriets have been breachad by an
ever-increasing number of exofic spacies.
The effeets of introduetions have been to
eonvert ‘a hugely divérse range of local
community composgifions into somethirig
much mored hoimngeneous.

It would Dbe wtong, however, lo
eonclode that introducing wpecies o &

region:. will inevitally cduse 5 decline in
species  richness there. For example,

there are nomercus species of plants
invertebrates ‘and vertebrates found in

continental Burope but absent frons the
British Isles {many because they have so
far f'nh,d Lo rtmlomze after {he last

'lskely to &ugmen’c British 'hmdwersn}'

The significunt detrimental effect noted
above arises where aggressive species
provide 'a nevel challenge to. endemic
biztas iHl-equipped to deal with them.

With reference {o the passage, which of

the following statements is correct ¥

(a} Introduction of exotic species into
new  geographical arcas always
leads to reduced biodiversity.

tb) Exolic species introduced by mad
into new areas have always greatly
altéred the native peosystems,

fel  Man is the only reason to convert a
hagely  diverse range of local
communily compositions ikt more

‘homogenaous ones,

{d} Nune of the statements {a), {b) and
{c}.is correet in this centext.
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30.

31.
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fay Evolution of

Why ‘docs men introduce oxotic species
inte new geographical areas 9

1. To breed exotic Speciek  with laeal

varicties;
2. Téinerease agricultural productivity,
3. For boautification and landscaping.

Which &f the ahove statements isfare

correct 7

ta) 1 enly

(b) Z'and 8 only

{ey 1 and 3 only

(d) i, 2and 3

How 18 homogenization prevented ander
natural condifions 7

STGURS
specific to local habitats.

(h) Presencn. of ocdiing and mouniain

{ci Stmng adaptation of groups of

species to loeal physical and elimatic |

eonditions,

(d) All the statements (a), (h) and (&}
given above are correct in  this
context:

How have the human bei‘:\;gs influenced
the biodiversity 7
1. By smuggling live organisma.

2. By building highways.
3 By making ecosysiems sensitive s

that new speeiss are not. allowed.

4. By ensuring that new species do’not |

have major itnpact on Jocal species.

Which of the statements given above are

correet, ?

fa} 1 and?
b} Zand 3
(e} 1and 3
{d} 2 and 4

of BpEcios

(18 - A}

32, What can be the impact of Invasisn. of

exotic pocies eh an ccosystem ?
1, Erosien of endermie -species

éhe mmmumt}r of the emﬁysiem

* SBelect. the correct. answer using the codes

given below :
fal 1 only
{B) 2 only

o} Both 1 snd 2

{d) Neither I ner 2

Passage - 2

Most chainpions of demoeracy have
been rather reticent in suggesting that
democracy itself  promote
development und enbancerdent. of social
weifare — they have tended to. see them
as good hut distinctly separate and largely
independent geals. The detractors of
dembcra-cy,- on the other hang, gecmed to
have been quite willing to express their

would

dingnosis of what they see as seripus
tonsions demdodracy  and
development. The theorists of the

hetween'

.;:-ractiﬂal -spli:; — “Make > up-your 'nind do

want devn]apmcnt - eft{,n came, at.
least to start with, from East Asian
countries, and t(heir voice arew  In
inflaence ‘as several of these countries
were immensely suceessful — through the
1970 and 1980s and even later — in
prometing  ecoric growth  without
pur.:auing demmracy-.
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To deal with these issues we have fo
pay particulur attention to buth the
contenl.of what ¢an bs called development
and t0.the interpretation of demotraey {in
particilar to the respective-roles of voting
of development cannot be divorced fram
the lives that people can lead and the real
freedem that they enjoy. Development.can .
scarcely be seen merely in téfms of |
enhancersent of inanimate objocts of |
convenicnee, such a8 a rise in the GNP lor
in personal incomes), or industrialization
the real ends. Their value must depend on
what they do to the lives and freedom of
the people invelved, whish must be centrul’
to the idea of development.

If development is understood in g
broader way, with a focus on human lives,
then tt becomes immediately clear that
the velafion between development snd
democracy has to he seen partly in terms
of their comstitutive connection, rather ]

Even though Llve question has often been

asked whether political freedom s
“cundu'ciye to. development”, se must not

miss. the. erucial recogriition that political
libertiez and demoeeratic righls are among
the “egnitituant

development. Their relevance for
development- does ot have fn bhe|
established  indirectly through their j
eontribution to the growth nff‘ GNP.

components™  of]

33.

134.

34,

{ 20 ~ &)

According to the passage, why is = serious
tension perreived betvween demderacy and
development hy the detraciors of
democracy. 7

{a} Democracy and develapment are

distinct and separate goals,

{b} Eecovomir: growth can be promoted

suéeosstully without -pursuing a
demorratic system of povernance.

(¢} DNon-democratic regimes  deliver
ecuhiomic growth faster and far more
successfully than demberatic ones.

{d} All the statements {a), (b) and (&)
given above are correct in  this
context.

Aceording to the passage, what should be
the ultimate assessment/aimfview of
development ?

{(a} Rise in the pur capita ineome and
incastrial growth rates,

(b} Improvement in'  the Human

tey  Rise i thie savings and. consumption
trends.

(d} Extent of real freedom that citivens

_ BRIOV.

between democracy and  development
imply ¥

{a) The relation between them has to be

{b} Political and civil rights only can
lead to ecunomit davelopment.

(¢} Political libertios and demacratic
rights asé essential. elements of
development,

{d} None of the statemeants {a), by and
{c) given above iz correct in this
context.
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Passage =3 38.

The need for Competition Law
Dbecomes wiore evident when foreign direct
iivestiient (FDI) i liberalised. The
impact  of FDI  i8  net  always
pro-vdrmpetitive. Very often FDI takes the
form: of a foreign eorporation acquiring a
domestic enterprise or establishing 4 joint |
venture w;th one, By makmg sugh an |
substantlally lessen acs:rmpetmon and gam'
a2 dominant position in the relevant.

""" thus charging higher prices.
a’-‘:.nui,h&r scenario i3 where the affiliates of
iwo separate multinalional companies:
{MNCs) have been established iu.
competition  with one another in s
particaiar developing economy, following

the liboralisation of FDI Subsequently, |37,

the parent companies uverséns merge
With the affiliates ne longer remaining
independent, competition in  the host
gountey may be virtually chiminated and
the prices of the products ‘wigy  be
artificially inflated. Most of these adverss.
consequences of mergers and gcquisitions
'hy MN{ES Qan i}e avﬂided ‘if an ef‘fccti»e
.econmmg_,f that ‘has 1mp1,cme_ntt_¢d an
affective competition law ia in a hetter
position to attract ¥DI than one that has |
not: This is not jost because most MNCs
are cxpected to be accustomed to the
operation of such a law 1% their home|
countries and know how to deal with such
concerns but also that MNCs expeet
competition autherities to ensure a. level.
playing feld botween domestic and
Toreign firms.

F 22 = A}

With reference to thie passage, consider
the following statersents ;

1, it s desirable. that the impact of
Foreign Diteci Investment should be
pro-competitive.

2. The ‘entry of foreign investors
invariably ieads to the inflated prices
in demestic markets.

Whieh of the statements’ given above

isfare correct ¥

ta} 1 only

b) 2 cnly

(e} Both 1 and 2
{d} Weither } frior 2

According to the passage, how dees a

foreign Investor dominate the relevant

demestic market ?

1. Multinational COMPHDIeS get
accustomed to domestic laws.

9. I‘ungn L{m'pame'a eatabhsh Jmnt

3. Affiliates in a ;aartwuiar marizet;aectar
iose their independence as their parent
companies overseas merge.

4. Foreigh companics fower the cost of
their pru&ucts as ccmpared .,0 ‘e‘mt of

Whl,f.:_h of the slatements given above are’
correct ¥

{a) 1 and 2 only
{b) 2 and 3 only

ey 1, 2 and 3 only

fdy 1,2 8 and 4
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38.  What'is the inference from this passage 7 |41.
{ay Foreign investors and muliinational
companics  always  dominate the!
dornestic market. . '

{b) It is not in the best interests of the
demestic economy 1o allew ergers of
companies. ) '

{e) With competition law, it iz £asy to
ensure & lovel playing field betwsen
domestic. and foreign {irms,

{d) Fér countries with GpEIL  BCOROMY,
Foreign Direct Investment is essential
forgrowth.

39. Examine the following statements

1. Fwatch TVonly il ] am bored,

2. I am never hored when I have my
brother's company. '

3. Whenever I go to the theatre I'take My
brother along, _ '

Which one of the following conclusions ia

valid in the context of the .above

statemants 7

{ty IfIambored, T watch TV, 4o

b} If T am bored, I scek my brothers|
conipany.

) If I am not with my brother, then I
waich TV,

(d) TfTam not bored, I do not walch TV,

40. Only six roads A, B, €, P, @ and R
connect” a military camp to the rest of the'
counitry. Oniy one out of A, ¥ and R is
open at any one time, If B is closed, so is
Q. Only one of A and B.is open during
sterms. P is closed during floods. In this

context, which one of the following
statements is correct 7

(a) Under normal conditiong only three
roads are open.

(b) During storms «t least one road i

opet,
{e} During flbods only three roads ars|
origh. |
() During calamitics all rosds are
clesed.,

P-DTG:M-0B t2a -a)

Examine the following statements :

1. None but students dre members of the
£lub.

2. Bonte members of the club are married
PErsons.

3. All married persons sre invited for
danco,

e

Which on¢ of the folloswing conelusions
can be drawn from the above statements:?

(2} Al students are invited for dance,

(b} Al married studerts of the cleb are
invited for dance.

e} All'members of the club are married

PEFSONSE.

{(dj None of the shove conclusipns can
be drawn:

Four political parties W, X, Y and Z

decided o set up a joint eandidate for the
coming parliamentary electiops. The
formala  agreed by  themn  was  the
acceplance. of a candidate. by most of the
pariies: Four aspiring candidates, A, B, €
and D approached the parties for their
tickets.

A was geceptable to W but not to 7,

B was acceptable to Y but not to X

C was acceptable o W and Y,

D was acceptahble to W and X

When candidate B was preferred by W

atd Z, candidate € was prefarred by X
and Z; and candidate A was acceptable

te X but not 9 ¥ whe got the ficket ¥
{ay A

by B
fej _
dy B
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Consider the following statcments -

1. A:Il_ Xbrand cars parked here are

2. Some of them have radial tyres.

3. All X-brand cers manufactured after

1988 have radiat Lyres,

4, Ail carg are not X-brand:

Which one of the following coneclusions.
can he drawn from the above statements 2

{a) Only white cars are parked hare,

Seme  white  X-brand cars
raiial fyres are parked here.

{b with

{o)

have radial fyres.

Most of the

{d} .
manufactured hefore 19586,

The Third World War, if it over starts,
will ¢nd. very quickly with the possible
end of civilization. It is only the wriisuse of

nucléar power which will trigger it,
Based on the above statement, which gne |

of the following inferences is correct ?
{a)
Third World War.

(b}
after the Third World War.

{¢} The growth of nuclear power will®
destroy civilization in the long run.
{d} The Third World War will nat take
place.
{268 - A}

Cars other than X-brand cannet.

X-brand earzs sre

Nuclear power will be used in the]

There will he ne civilzation lefi

443,

48,

L 4
(a)
) | pd i
b
@ | |
o
A

the four

‘The elements of the preblem figures given
below are changing with a certajn rule as

we observe them from left to right :
Iy MY

Aceording to this rule, whichk of the
following would be the next figare if the
changes were cantinued with the same
rule 7

Consider the following information

regatding the performance of a olass of

1000 studenis in four différent. tests

Teosts I 15 | |11 § 1v |
Averagnmarks | 60 | 66 | 70 | &0 |
Rangeofmarks | 30 | 45 .20 | 0
_ to 1o tw | to
80 | 75 | 100|100

If a student scores 74 marks in « ¥ of
tests, in which one of the
following tests is her performanee the
best comparatively 7

Test I.

Test 11

Test 101

Testl IV

(a;
{b)
{e}
(d)
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{27 ~ A}
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‘what would be the face oppesite the white

the pgopic who dre intelligent, honest and

Six squares are coloured, frent and back,
red (R} blue {]3} v&ﬂow Y3, gm{.n (G,
together as shown in the ﬁgure given
below. If theéy are folded to form & cube,

face ?
RiB
GIY IO
W
(2} R
{1 G
iy B
H O

in the abové figure, circle P
hardiwirking people; circle Q
intelligent people, circle R
truthful people, and circle 8
honest people, Which remion

reprm;enﬁs.

-repr{,sents
represents
represents

truthful but net hardwerking ?
{a) €
hy 7
(e} 8

@ 1l -

49,

50,

{28 - 4)

Three views of a cube foll lowing' a1
particular motion are given below -

K S "7 B

AL M| P

What is the letter opposite o A 7
(@ H
{by P
ey B

) M

:ﬁ@@
SERR AN
PO G

Which one of - the figures shown below
veeupies the biank spzce {7}.in the matrix.
given above ?

o (P
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Directions for the following # (six} items @

Rend the fellowing tivo passages and
answer the items that fullew each passage.
Your answers lo these ilems should be
based an the passages only,

Pussage ~ 1
Thie:

erondmies,

poor especially in ‘market

need the strongth  that
colldetivities  offer  for crealing  mare
ecenomie, social and political space for
themsaclves, their
socio-cconemic well-being and vaipe, and

for enhaneing

#s g proteciien against free market

individuaiism. It has been argued that &-

graup approach to farming, especially in
the. form of botlom up agriédltural

seape  for  poverty alleviafion and

empowering the peer as well as enhancing

potential, however, the groups would need
to be voluntary i nature, small in size,
participative in decision making and
tquitable in work sharihg and benefit
distribution. There are many notable
examples of such egllectivities to be found
siich as in the
trensilion economies, AR of them bear

in varied contcxts,

cooperation nnder given conditions. And |

although the gender impact: of the famiily
coaperalives in. the fransifion economies

are uncertain, the Indian examples of |

women-only  groups  farming  offer
congiderable potential  for bemefiting
wormen,

B1.

52

53,

1. 4 is

Agricaltural colleciivities sach as group
haged farming can provide the rural poor

1. empowermont,

2. increased agricnltural productivity,

3. safeguard against exploitative niarkets.
4

. surplus  prodlction of agrieultural

comraoedities,
Belect the coreect answer using the codes
piven balow :

(a) 1,2 3and 4
by L, 2-and 3 only
fe) 2 and 4 anly

{d} 1,2 and 4 only

What docs the author imply by “gender

Arpact” ? -

{a) Women are doubtiul participants in
cogperatives.

(b} Family cosperatives may not include
WOINED .

fc) Women  benefiting  from group
farming.

fd) Women's  rele  in transition

econnmies is highly restrictive,

Consider the {ollowing assumptions :
imperative for {ransition
have

ecopomies  to apriculiural

eoflectivitios,

2. Agricultural  productivity can  be

farming.

With reference to the above pacsage,
which of these assumptions isfare i\r‘laliiti- ?

{a) 1 only

{h) 2 only

{¢} Both 1 and 2.
{d) Neither 1 nor 2

{ 30 - &}
A
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Passage — 2

Weistern: liberal
of
invariably leads to consalidation of Hberal
in the

democratization is translated Into greater

In =a

context,  deepening democracy

values'. Indian  context,
involvementi of people not ax “ndividuals’

which is a ataple to Liberal discourse, but

a8 comhmunities or groups. Individoals aro |
getting involved in the public sphere not |
as ‘atomized" individuals but as members |

of primordia! communities drawn on

religious ar eashe identily.

governing force. It is not therefore
surprising that the se-called peripheral
Broups
identitics with reference to the sodial

continue fo  maintain  their
groups (caste; religion or sect) to which
they bslong while getting involved in the
political processes despite the fact that
their political goals rémain mare or less

political voice of the marginalized,

demuoeracy in India has led to ‘a loosening

peripheraly to be confident of their ability

to improve the socio-ceenemiic conditions

in which they are placed. This is a

significant political process thet had led to

& silent révelution ‘through & meaningful
transfer of pewer from the upper caste

ehtes to varions subaltern groups within

the democratic framework of public

governance,

o4,

Community:-identity seems' to. be the 53,

586.

{32 -« Al

{d)

According to ‘the passage, what does
“deepening of democracy” mean it the
Western context ?

{a} Consolidation of group and class

identities.

{b} DPemocratization transtated  as
greater involvement of people:

(¢) Dembcratization ag greater

invielvement of ‘atomized’ individuals
in the public sphere.

Mone of the statements {g), (b) and
{e} given above is correct in this

(d)

Greafer demperatization in India has not
negessarily led to

the dilution .of caste and communal
identities in the publie sphere.

{a)

irrelevance of community identity as
a governing force in Indian polities.

{(b)

{c)

marginalization of elite groups in
socioty. o

relative unimportance of hereditary

identitics aver ¢luss identitiss.

{d)

What is the “silent revolution” thal has

geeurred in the Indian demoperatic
process 7
{a) Irrelevance of caste and class

hierarchies in political processes.

(b

voting behaviowr and patterns.

Bocial change through transfer of
pewer from wupper caste elites to
subaliern groups.

{e}

All the statements (a), (b} and (¢
given. above. sreé correct in  this
-context.



P-DTO-M-CB

qiedy - 2

el @ e & aff, 3 B sered) R e
T v #, aﬁﬁﬂgﬂ?ﬂa‘ﬁﬁqﬁ?ﬂ‘iwﬂ
s 2 ¥ | wdate & % @it wfer
=Rt e 3§ T, e o o sl &
UEAH § WOR. R T WK TR $ Tl $

o ¥ mim @ @ § 1 warpReaae |

Bggs a0 B s A ¥ 1 gm ue
sy T 2 B enafiw iy e

TEaE @) Ot W (I, of mode g,
oy wd F | v ¥ ey Y guidi A
M e & el Fuid @l @ ox oie W@
o ¢ A B arfam-ants aemsl F 8 3=
QR # A dwa B oar § a8 )
w v wweaf et wiw @ oW,
PH-TE T eie ¢d P ofey, JemeR I
¥ sl ¥ ffim ol gt 3 wnfe
wifes- S TR &6 5 uRan ¥ oh 0E wid &
WU AT |

54

5.

o6,

{33 - A}

ufdad T A, "oy ® ol Ty B ©
T IR E P

() TR v A v @ e

(b)y FAT @ geoe  whtedr R
kg s il

(c) wrafre By ¥ wifted & oo w0 A
Wwﬁmﬁ & oy § e ARy |

ﬁ%m"rg%%ﬁé‘rqﬁéi

& AT 9 SR P

{a)- Fﬂﬁﬁ%ﬂ”ﬁmﬂ”’a“m@’mwﬁ{
w8 1

h) WA oAl A Pwd aw b oww
TG TE B S [

() w8ty gl B TeiEE A

() T GEUE] S O SnEE TREEl B e
TErRHe BT

e cum e § o wdn xeaias

(a) et st F oy o oo e
Y AT |

Frort = &= 9 |

whegeaa & wEE F aias
zg vl ¥ Wil g BUT (), (b) alik
(C]‘\‘Tf?f_gl

ib)

(d)



Directions for ihe folloming 5 (ﬁve} ifenis

54,

58,

59.

P-DTQ-M-0OB:

Examine the Enfirrmatiﬂn gwm in the

that fﬂilt:w

Guest lectures on five subjects viz.,
Economics, History, Statistics,

Feonomics  eannot  be

Tuesday.

schedilded  on
Guest faculty for History is

avajlable only on Tuesday, Mathematics |
G2,

lecture hias to be scheduled immediately
dfter the day of Economics lecture.
'English lsetare has !,e:n be s‘chedu‘le:i

Which lecture is scheduled on Monday
fa} History
(k)
fe)

{d}

Economies
Mathematics
Statiatics

Which lecture iz scheduled between
Statistics and English ?

(a)
(k)
ie)
{d}

Eronomics
History
Mathematics
No lectirre

Which.
week ?
(n)
(b}
{e)
(dy

lecbure  ig the last one in the
History

Enelish

Mathematicy

Economics

English |
and Mathematics have {o be-arranged in a |
week from Monday to ¥Friday. Only one |
lecture can be arranged on each day. |

J 160,

163.

Which lecture ig
Wednesday ?

{a) Statistics

(b} Econormics

{c) English

{d} History

seheduled on

{a) o]
{h) His.:mr:?
{e} Statistics
{d) English

Twe glasses of equal volume are
respectively half and threo-fourths filled
with milk. They are then filled to the
brim by adding water, Their contents are
then poured inte snother vessel, What
will be the ratio of milk te water in this
vessel ?

{fa} 1:38
(b} 243
e} 3.2
(d} 5:3

Consides the following statements !

1, All machines consumc energy.

2. Electricity provides energy.

3. Elcctrically operatcd fnachines ard
cheap to maintain.

4. Electrically operated machines do not
cause palluii{m

he drawn from the above siatements ¥

fa) All wachines are run by electiic
ENRIEY,

(k) There is no form of cncrgy other
than electricity.

{¢) ‘Most machines are operated on
eloetric energy.

fd}y Electrically operated machines RYe

preferable to use,
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Examine the {llowing staternents

1. Nane but the rich can afford air-travel.

2, Some ol*those who kravel by air become

=iek,

3. Bome of those who hicomie sick requife
{reatment.

Which ong of the following conclusions.
can be drawn from the above stalements ?

(i)
{b3

All the rich persons travel by air.

siek.
() All the rich persons beegre zick.

(A} All these who travel by air are rich.

ir Tive flats, vne above 1he other, live five
professionals. The professor has o po up
to meel his IAS officer friend. The doctor
is equally frieodly o all, and has to go up
as frequently as go down. The enginecr
has to go up to meet his MLA friend

above whose flat lives the professer’s

friend.

From the ground floor to the top floor, in
what order do the five professivnals Hve ?

Thase whe frdvel by air become

Direetions  for

the following 8 (eight)

86 fo 73) nre based on fhree passages in
English to test the comprehension of
English language and thergfore these
itews do not have Hindi version. Read
each possage and answer the ifems that
Fotlow.
Passage -1

For fourteen and a half months [ lived
n my little cell orroom in the Dehradun
juail, and T began to feel as if 1 was almost
of it, 1 knew every mark and dent on the
whitewashed wallg and on the uneven
floor and the ¢eiling with, its moth-eaten
rafters. In the little yard outside ! greeted
iittle tufts of grass and .edd bits of stone
for severdl colonies of wasp and hornets
lived there, and many lizards found &
hame behind the rafters, emerging in the

evenings in gearch of prey.

Winch of the following cxplaing bess the
sentence in the passage “T was almest a
part of at" ?

{5} Engineer, Professor, Doctor, JAS
«fficer, MLA
" 661
(b} Professor, Engineer, Doctor, IAS:
officer, MLA
{a} ['was siof alone in the cell:
&) IAS  efficer, Engincer, Doctor, {b} I was familiar with every bit of the
Professor, BILA eail.
, , L () I greeted litle tufls of giass like old
{d) FProfessor; Engineer, Doctor, MLA, " friends.
TAS officer () Tfelt quite at home in the cell.
{36 - A}
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MLA
by W, gWPR, ey, FAS aftmd,
MLA

(&) IAS imryg, foiFeR, ey, diter,
MLA

(dy wEsR, FFER, dfsee, MLA, IAS
aferETdr

Frrleifia 8 (ane) wearen & e Bl .
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(37 - A}

Frleddia 8 (nF, Seig (Aei 66§
73) FusH & o Sl o svenfia & s
A & arm b oylar ¥ Fr F 1 s
&7 el ot 38 sane vl B sm e
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Pussage - 1

For fourtesn and a hal montha I lived.
in my little cell or room in the Dehradin.
judl, and Y began io leel as if T was almost
& parl of 1t I was familiar with every bit.
of it, T knew every mark and d'cn,t'-cjﬁ the
whitewashed walls arnd on the aneven
flaor and the ceiling with its moth-eaten
rafters. It the little yard outside I gredted
little ‘tufts of grass and odd bits of stone
for several colonies of wasp and homets
ved there, and many lzards found &
home behind thie rafters, emerging in the
evenings in search of prey

‘sentence in the passage “I was abmost s
part of it 2

(ay 1 was not afone in the cell.

by [ was familizr with EVErY bhit of the
celdl.

{cy I greeted little tufts of grasslike old
friends.

(@7 T felt quite at home in the cell.
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{b}

' {_ﬂj}

{dj

The passage attempts to deseribe:

(ay the
eountry's jaila.

general  conditions ¢gf the

minute details of bis surroundings.

overeome the loneliness.

The author of ‘the passage seems i |

sngpest that

# is possible to adjust encself to
uincongenial surroundings.

the. conditions in Indian prisons are
not bad.

it is not difficuli to spend one’s fime
in.a prison.

(&)
Y]
(el

thers. is a neced to improve the

(d)
" conditions in dur jails.

We staried pitching .the highest
that Has
Everything took five Limes as long as it

camp ever  heen made.
would huve taken in 2 place where there
was enough air to hreathe; but at last we
got the tent up, and when we crawled in,
it was not too.bad. Thers was only a Light
wind, and inside it was niot too cold for ws
to take off our gloves. At might mest
climbers take off their boots; bui I prefer
te keep them on. Hiltary, on the other

‘hand, took his off and Jald them next to

his sl.eepixfg 'bag.

{ 33

the prisener’s capacily to notive the
the prisorers ¢onscious efforts te

the prisomer’s ability to live happily i

6.

0.

71,

~ A

{b}

What does the expression “pitching the
highest camp” imply ?

{a) They reached the summit of the
highest mountain in the world.

(b These who climbed that far earlier
did not pitch any camp.

(¢} So far nobody has ever climbed that
thigh.

{d)- They were too many climbers and

needed to pileh a big camp:

They took a long time to finish the work
hecause

they were very tived.

there was riot enoagh sir to breathe,
{c). it was very coid.
{d) it was very dark,

Whin they crawled inlo the tent

they took off thejr gloves because il

fa)

{b) they could.not take off their gloves
hecanse it was very eold.

(¢} they took off their gloves though it
wag very cold.
(Y they did not take off their gloves

though it was net cold.
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The passage attempts to deserihe
(a] the

country’s rails.

general conditions  of the

(b} the prisoner’s chpacity te hotice the
minute details of his serreundings.
()
{d} thée prisoner’s ability to live happily
with ether creatures.

The author of the passage seems fo
suggest that

{a)
uncongenial surroundings,

the conditions in Indian prisons are
not bad.

{b}

fe}

in a prison.
{d} there iz a need to improve the
concitions in our jails,

Passape - 2
We started pitching the highest

camp that has  ever been  inade.

Everything tock five times as leng as it

was encugh air to breathe; but at last we}

got the tent up, and when we crawled in,

it was not too bad. There was only a light |
wind, and inside it was not too cold for us |
to take off oir gloves. At sight mosty

his sleeping bag.

the prisoncr's conscious offorts to

i 13 possible {0 adjust aneself o :

it is nat difffenlt to spend one’s time |

89,

70,

T1i.
would have taken in & place where there |

(39 - A)

What does the cxpression “pitching the

highest eamp” imply ?

(2} They reached the summit of the
highest meuntain in the world,

thj- Those who climbed that far carlier
did not pitch any camp.

{¢) So far nebody has ever climbed that
high.

{d) They were too many climbers and
needed to piteh a big eamp.

They touk a long time to finish the work

beeausce.

{a} they were vory tirad.

{b} there was not enough air to broathe.

{cy it was very cold.

(dj it was very dark,

When they }:ra.wleé inte the tent

(u) they took off their gloves becanse if
was. not very cold.

(b} they ecould not take off their gloves
hecausg it was very cold.

(cy they tosk off their giave'ss‘ though it
was very cold.

{dy they did not take off their gii'wes-
thongh it was not cold..



%8, The man went into another foom beeause
(&) he did not know where exactly the
wtalrway was.
(k) the passage was full of smoke.
(¢} he was extremely nerveus.
tdy he stumbied on a bundie.
73, The man wabs ¢alled & bero becanse be
(a} expressed hiy willingness to risk his
life to save cithers.
(5y managed lo escape (rom the fite.
{c) showed great.courage in fighting the |
fire.
{dy saved 2 life.
P-DFQ-M-OB8

FPassage - 3
A lbcal man, stﬁying. onr the top

wooden

floor of an old wooden house, was

awakened ab midnight by a fire. Losing
his way in a smokedilled passage, be

missed the stairway and. went intol
anothier roarn. e picked 1p a bundle o]
protect  bis face from the fire and|
immediately fell throuwgh the Moor below
where hé managed to escape through a |
clear duorway. The “bandle” proved. to be :
" the baby of the Mayer's wife. The “hera™|
74,

was congratulated by all.

Birections for

the Jollowing 7 {seven)

tlems

5.

{40 ~ A}

(Given below are seven fems. Foch Hem
describes o situation ond is fbﬂ'awed &y
four possible responses. Indicate the
response  you find  most  appropriafe.
Choose ondy one -response for sack item.
The responses will Te eooluated based on
the, level of appropriatencss for the given
situation.

Please attempt all the items. There is.
ne pencliy for wrong answers for
these seven ifems.

You have differcndes of npinibn regarding.
the final report p_re_pared by  your
subordinaie that is to beé. submitted
urgently. The subordinate iz justifying
the infermstion given in the repart. You
wiuld. ..

{a) Convinee the subordinate that he i -
wrong.

{(b) Tell him fo reconsider the results.

{e} Rovise the repert on your own.

() Tell him not to justify the mistake.

You are compeling with your batch-male
for & prestigieus award to be decided
baged on an orsl presentatiorn. Ten
minutes are.  allowed for  each
presentation. You have been asked by the
commitice tg finizsh on fime Your frignd,
however, iz allowed more than the
stipulated time period. You would..

) Ledge 2  complaint  to the
chairperson againsy the
discrimination.

by Not. listen to any justification from

the commitiee.
ey Ask for withdrawal of your name.

(d) Protest dnd Jeave the place.
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Passage ~ 3

A local man, staying on the fop.

floor of an old wooden house, was)

awakened ai midnight by a fire. Losing]
his- way in -a smoke-filled passage, he
into

missed the stairway and  went

another -1?001'!1' He pii'cked "a'p' a bumiln f:c)

protect his face

immedintely fell thmugh the flnor i}el::tw
where he managed te escape through o
clear desrway: The “bundie” proved to be
the baby of the Mayor’s wife, The “horo”
was congratulated by all.

The man wenf into another reem beeause

he did not know where exactly the
SLATPRLY Was.

(a)

fhy the passage was foll of smoke.
(¢} he was extremely nervons.

The man waa called a.hero{ because he

{a} expressed his willingness to risk his |

life to saveé others.

(b)

ﬁresl

td)y saved a life,

74.

3
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You are handling a time-bound project.

Tharing the pruject review meeling, you
find that the preject ia likely te get

delayed due to lack of conperatien of the
team members, You would...

{g} Warn the team members for their
no n—m}{:pérﬁtibﬁ

(b} lLook inle reasons for
Tnon-codperation.

(¢} Ask for the replacement of team,
members.

{dy Ask for extenkion of time cifing

77,

TERBOMNS.

You ure the chairperson of a state sports

commiltiee. You have received a complaint

and later it wasg found that an athlete in
the junior age category who has won a
anedal has crossed the age crtterla by
B days. You would, ..

(a) Ask the screening committee {gr a
clarification. '
{0} Ask the athiete to return the medal. |
{c)  Ask the athlete to gét an offidavit |
fromm the court declating histher age. |
(d¥ Ask the mémbers of the zports|

?S‘.

'the pm]ect YBHT 1mmeclmte buss doos: m}t :
grant. your leave citing the wrgeney of the |

conumiiles for their views.

project. You would..

e

153}

(b}

)

P-DT

the sanclien.,
Pretend to be sick and take lsave,

Approach-  higher authority
reconsider thee leave application.

(c} o

Tell fhe bods that it is not justilied.

Q-M-0OB (42

Proeeed. on leave withont, waiting for |

79,

80.

rase..
low and 25%

{a)

h)

ted

{d)

You are itnvolved {n setting up a water
.gupp]ﬁy project i a temole aren. Full

recovery of eest i3 impossible in any
The incore levels in the area are
of the population iz bhelow

poverty line (BPL). When a decision has

to be taken on prieing you would..

Recommend that the supply of water
be free of eharge in all respscts.

Recommend that the users pazf a.one
time fived sum for the i
taps and the usage of water be fr‘ec..

Recommend ‘that a fixed monthly
charge be levied only en the non- BPL

families and for BPL (umilies water
should be free,

Recommend that the users pay a2
chargo hasci:l' an, i,he consumption of

T1e- BPL_ m:ld BPL_ iamﬂ;e:;,

As 4 gitizen ycm have some work with
. The official

'd;sma You wr}uid .

{g] Givea ?)rib&.

ihy Bebaveé asif you kave not understacd
the feelers and pergist with yoor
application.

) o to the highet officer for help
verbally eomplaining abont feelers:

{dy Send A formal complaint.

- B
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